KTPS> 25 [BFFTILKX]

A Al

B E A

RP

= o)

=

RER

&%

AN E

/=nA

1|HP AE (FT=RI8—%) 352 96 0 128 128 352

2| 7% [E—HB (JETS) 320 128 128 64 32 352

| FE &t (CxWLHAT) 320 128 128 64 320

4))Ilf B (JETS) 288 32 32 128 128 320

5| RiZE BEF (WLARHTC) 224 32 96 64 64 256

6L B C D) 224 64 64 96 224

7|KM Bt (FT=RI8—%) 192 96 0 64 32 192

7|EH Rl (FRTC) 192 64 32 96 192

9|3LfE R (OARHETC) 168 96 8 64 168

10|=F % (F=RI\—%) 128 32 64 32 32 160
11FB —hk (JETS) 128 32 64 32 128
12|F5E it (FRTC) 104 64 32 8 0 104
13[—F #X (CxWLHAT) 96 32 32 32 0 96
13|FR Eth (F=RI8—%) 96 32 32 32 0 96
13|k REE (FT=RI8—%) 96 32 32 32 0 96
13[BFE BN (R T=XHB=R 96 32 64 96
13| EzN  |(BIT=XHBE 96 96 96
13|IUH R |((BIT=XHBE 96 96 96
13|EE &EX CEIED) 96 64 32 96
20(de4t Fn— (OARHETC) 72 64 8 72
21| EZE BAN (ART=AHE 64 64 64
21| KJI (CvWLHAT) 64 32 32 64
23| Ed M |(F=R/A—HJr)| 50 0 10 8 32 50
24|5hH KX&§ (CxWLHAT) 40 0 0 8 32 40
25| b5 5 (LoWLHAT) 32 32 32
25|)Il3m BEIZ (T=RIN—%) 32 32 32
25|58 EA (FRTC) 32 0 0 32 32
25K E (T=R/N\—%Jr)| 32 0 32 32
25| H5E KE U 32 32 32
30|.L¥ {EXBA[ (FIRRAIIX) 22 10 4 8 0 22
EH AR U 16 0 16 16
31 |EIR R (FRTC) 16 16 0 16
31K KF0 (DAKTC) 16 16 0 16
/KR —F& (DAKTC) 16 16 0 16
35| E#k ZREL (EE5=—) 12 8 4 0 12
35|iFE B € =Nb ) 12 4 0 8 12
3b5|BE IE=E (E5=—) 12 8 4 0 12
38|HhFt B (DAKTC) 10 0 10 10
38|1BEE EiE € =Nb ) 10 10 10
40(PTER  FD4 € =Nb ) 8 0 0 8 8
40|A T U 8 8 8
40/MNEF B (FRTC) 8 0 8 8
40|/MiE FER (LoL\HAT) 8 0 8 8
40|51 A (CxWLHAT) 8 0 0 8 8
40| E 5 B (T=RIN—%) 8 0 8 8
4030 HBA CEIED) 8 8 8
OEAKR B—| EE353=—) 8 8 0 8
4008 EE € =Nob ) 8 4 4 8
40|EHA BEE (CxLHAT) 8 8 8
40|EHE % CEIED) 8 8 0 8
0= E [(BERAUVCETO) 8 8 8
40/1lLEA RHE (FRTC) 8 0 0 8 0 8
40|14 H {— A (CvWLHAT) 8 0 8 8
40|72 EER  |[(TLALavY) 8 0 8 0 0 8
40BE B (FRTQC) 8 0 8 8
56| #TFH #i BIRESE) 4 4 4




KTPS> 25 [BFFTILKX]

G=X:[] B E A RP =Rt | BN | ABR | TRV | &
56)28 E&E (2')—) 4 4 4
56[/NE B— (T=R/I\—%) 4 0 4 4
56|&F ER (CxWLHAT) 4 4 0 4
56| KT E#fd (FIR& L&) 4 4 0 4
56/t 8 Fih (FRTC) 4 4 0 4
56| %k 1EfC BIRESE) 4 4 0 4
56| K #EE (&AL &) 4 4 4
56|pkH &% (7)) 4 4 4
56|58t & € =Nob ) 4 4 4
56|=F #ER (HIFR LK) 4 4 4
5682 Eti| (T=X/8\—%9) 4 0 4 4
68[1ER K ER (TLALIavY) 2 2 2
68|=2H EE |[(TLALIavy) 2 0 2 0 2




